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SECTION-A
ANSWER ANY FIVE QUESTIONS (5 x 10 = 50)

1. Given below is the data on Male & Female Literacy rate of Indian States as per 2011
Census.
(a) Compute the Summary Statistics for the data and interpret.
(b) Find out the percentage of States where the Female Literacy rate is more than the
national average of females.
(c) Find out the number of states where the Total Literacy rates are less than the
national average.

Male & Female Literacy Rate of Indian States as per 2011 Census

State /UnidFemale |Male Total

Andaman at 82.4 90.3 86.6
Andhra Prad 59.1 74.9 67
Arunachal P 57.7 72.6 65.4
Assam 66.3 77.8 72.2
Bihar 51.5 71.2 61.8
Chandigarh 81.2 90 86
Chhattisgar 60.2 80.3 70.3
Dadra and N 64.3 85.2 76.2

2. Use suitable diagrams to represent the given TWO data sets and draw inferences.
a)



Merchandise Trade expressed as a % of GDP

of select countries

YEAR JAPAN SRI LANKA [NEPAL
2015 29.00 36.58 34.44
2016 25.45 35.79 45.46
2017 28.16 36.99 44.03
2018 30.00 38.59 46.27
2019 28.07 37.94 43.43
b)
Contribution to 1 Rupee revenue as presented in the Union
Budget of India 2020-21 (in paise)
GST collections 18
Corporation tax 18
Borrowings and other liabilities 20
Income Tax 17
Disinvestment 10
Union Excise Duty
Customs Duty
Non-Debt Cpaital Receipts 6
3. Given below is the data of the sectoral contributions of Agriculture & Allied, Industry,

Services, Total Revenue Receipts and the Development Expenditures to Tamil Nadu’s
Gross State Domestic Product (in Crores) at calculated 2004-05 prices for a period from
2003-04 to 2016-17.

a) Estimate the regression equation and interpret. Validate the significance of the
coefficients.

b) Is the overall model significant? Validate with reasoning.

c) Which is the sector which contributes most significantly to the GSDP of TN?

d) What is the explanatory power of the model?
Year GSDP Agricultur{industry [Services [Total Rev¢dDevelopm
2003-04 189782 10.8 28.2 56 12.49 52.6
2004-05 219003 11.1 31.6 57.2 12.99 52.6
2005-06 257833 11.1 31.7 57.3 13.17 53.2
2006-07 310526 10.9 31.2 57.9 13.18 54.8
2007-08 350819 9.8 30.5 59.7 13.55 54.9
2008-09 401336 9.1 28.4 62.6 13.71 58.2
2009-10 479733 8.7 30.9 60.4 11.64 59
2010-11 584896 8.3 31.5 60.2 12 56.8
2011-12 665312 11.67 31.3 60.3 12.81 57.1




4. Data on the Per Capita Consumption Expenditure (PCCE) for select Indian States of
varied geographical regions namely — East, North-West and South is given. Estimate
the regression equation. Interpret and validate if there is any significant difference in
the average Per Capita Consumption Expenditure among the geographical regions
mentioned.

State PCCE

Andhra Pradesh 1044
Assam 1045
Bihar 703
Chatisgarh 788
Guijarat 1109.5
Haryana 1174.5
Jharkhand 836
Karnataka 902
Kerala 1465.5

5. The data on Total Fertility Rate (TFR), Female Literacy Rate (FLR), Male Literacy
Rate (MLR) and Infant Mortality Rate (IMR) for select Indian States are given.
a) Estimate the regression equation and interpret.
b) What would be the TFR if (i) FLR =95 and (ii) IMR = 10?
c) Construct the 95% confidence interval for FLR.
d) Compute the correlation matrix between (i) TFR and FLR and (ii) TFR and MLR.
Also check if its significant.

State TFR FLR IMR MLR

Andhra Pi 1.8 59.74 34 75.56
Assam 2.4 67.27 36 78.81
Bihar 3.5 53.33 44 73.39
Chatisgarl 2.7 60.59 38 81.44
Delhi 1.8 80.93 39 91.03
Gujarat 2.3 70.73 8 87.23
Haryana 2.3 66.77 30 85.38
Himachal 1.7 76.6 33 90.83
Jammu & 1.9 58.01 25 78.26

6. (a) Arandom sample of size 16 has 53 as mean. The sum of the squares of the deviations
taken from mean is 135. Can this sample be regarded as taken from the population
having 56 as a mean?



(b) A random sample of 27 pairs of observations from a normal population gives a
correlation coefficient of 0.42. Is it likely that the variables in the population are
uncorrelated?

7. Give a detailed account of the process of hypothesis testing undertaken in research.
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